
Scientific Notation (G)Convert each ordinary number to scientific notation.
6,600 = 3,021,000 =

0.00893 = 44,940 =
54,000 = 64,000,000 =

32,700,000 = 0.00000206 =
0.004072 = 0.00881 =
8,016,000 = 0.000000022 =
450,000 = 9,000,000 =

0.0000005242 = 75,400 =
9,700 = 0.0000004652 =
5,230 = 17,360 =
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Scientific Notation (G) AnswersConvert each ordinary number to scientific notation.
6,600 = 6.6 × 10³ 3,021,000 = 3.021 × 10⁶

0.00893 = 8.93 × 10⁻³ 44,940 = 4.494 × 10⁴
54,000 = 5.4 × 10⁴ 64,000,000 = 6.4 × 10⁷

32,700,000 = 3.27 × 10⁷ 0.00000206 = 2.06 × 10⁻⁶
0.004072 = 4.072 × 10⁻³ 0.00881 = 8.81 × 10⁻³
8,016,000 = 8.016 × 10⁶ 0.000000022 = 2.2 × 10⁻⁸
450,000 = 4.5 × 10⁵ 9,000,000 = 9 × 10⁶

0.0000005242 = 5.242 × 10⁻⁷ 75,400 = 7.54 × 10⁴
9,700 = 9.7 × 10³ 0.0000004652 = 4.652 × 10⁻⁷
5,230 = 5.23 × 10³ 17,360 = 1.736 × 10⁴
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